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Mental Maths Warm Up

DAY ONE

11x1=__ 7x11=__ 5x13=__
Ax7=__ 1x9=__ 15x9=__
11x10=____ 9x12=__ 6x14=__
9x10=__ 2x4=__ 10x13=__
11x9=__ 11x8=_ 12x13=__
12x4=__ 8x7=__ 14x5=__
O9x1=__ 6x8=_ 15x1=__
11x3=___ 7x4=__ 14x12=___
3x8=__ 7x9=__ 14x8=__
8x6=__ 2x12=__ 14x6=__

What do you notice?

0.085+0.015=0.1

0.075+0.025=0.1

0.065+0.035=0.1

Continue the pattern for the next five number sentences.

Top Tips

Put these amounts in order starting with the largest.
130000cm?

1.2 m?

13 m?

Explain your thinking

Write more statements

Mr Smith needs to fill buckets of water. A large bucket holds 6 litres and a small bucket holds 4 litres.
If a jug holds 250 ml and a bottle holds 500 ml suggest some ways of using the jug and bottle to fill the
buckets.

The answer is ....
0.3km
What is the question?

What do you notice? What do you notice?
1 minute = 60 seconds
60 minutes = seconds
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Main Maths Activity
Let’s use your reasoning skills!

Remember! 3 8
3 8 +
+ The column method of addition is the method 9 3
9 3 where numbers are 'carried'.
———— . . 1 2 0 # add the tens first
1 3 1 You may also use a combination of the
ope . 1 1 # then add the units
column method and partitioning to add,
which would look like this: 1 3 1

There are six 3-digit addition calculations shown below.

a) 124 b) 644 ¢ 366
+ 233 + 172 + 277
d 579 e) 791 f) 567
+ 221 + 163 +233

Don’t complete the calculations yet!

Just from reading the questions, can you tell which calculations you will have to carry digits
to the next column for? How do you know?

Could you write an explanation for a friend who doesn’t know this concept yet?
Can you tell which calculation has the largest answer?

Which calculation has the smallest answer?

500 + 400 = 523 +400 = 523 + 28 =

What do your notice?

400 + 500 = 423 + 500 = 423 + 28 =

Is there a relationship

300 + 600 = 323 + 600 = 323 + 28 = between these
calculations?

200 + 700 = 223 + 700 = 223 + 28 =

100 + 800 = 123 + 800 = 123 +48 =




Chico's cards are all different.

There is a number from 1 to 8 on each card.

What are they?
There are seven different possibilities.
Try to find them all.

Chico has chosen four cards that add up to 20.

Can you use a systematic approach to find all of the possible answers? There is one completed for you.

The answers are on the next page for you to check!

Card | Card | Card | Card | Card | Card | Card | Card Card |Yes/No
1 2 3 4 5 6 7 8 | Total | =20
X X X X 20 Y
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Answers

Total

Y/N

20

18

20

20

20

20

20

20
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Mental Maths Warm Up

DAY TWO

7x1=__ 7x12=__
45+9=__ 80+8=__
12x10=__ 144+12=__
12x1=__ 49+7=__
12x8=__ 5x8=__
7x8=__ 11x12=__
11x8=__ 6x9=__
48+8=__ 8x8=___
12x11=__ O9x8=__
11x7=__ 33+11=__

Spot the mistake:
-80,-40,10,50
What is wrong with this sequence of numbers?

True or False?
When | count backwards in 50s from 10 | will say -200

True or False?
The temperature is -3. It gets 2 degrees warmer. The new temperature is -5?

Use the inverse

Use the inverse to check if the following calculations are correct:
2346 x 46 = 332796

27.74 +19=1.46

What else do you know?
88% of a sum of money = £242. Make up some other statements about percentages of this amount.
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Main Maths Activity

get on. How many are on the train now?

347 + 245 =

At 8am in the morning there are 245 bees
in the hive. By midday there are 347 more.
How many are in the hive?

Barry the sheep

weighs 167 pounds.

His brother Bob

weighs 178 pounds. 2
How much do they

weigh altogether?




| use 250 grams of flour, 155 grams

_ of sugar and 35 grams of cocoa
class used 167 pencils. powder in my cupcakes. How much
In 2020 her class used does this weigh?

149 pencils. / / ( /
O @ @

In 2019 Miss Smith’s

Q.

How many pencils
were used in both
years?

On Tuesday | read 278
pages of my book, on
Wednesday | read 139
pages and on Thursday
| read 167 pages. How
many pages have | read
in those three days?

A burger costs £2.69. | want
to buy three for my family.
How much will this cost?
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Mental Maths Warm Up

28+4=__
40+10=__
80+8=_
50+10=__
9% +12=__
56+8=__
60+6=

24 -8=__
36+12=__

24 +4 =

Undoing

DAY THREE

20+10=
32+8=
36+6=

100+10=

84 +12=
72+6=
36+4=

10+10=

| think of a number and then reduce it by 15%. The number | end up with is 306. What was my original

number?

In a sale where everything is reduced by 15% | paid the following prices for three items.

£255, £850, £4.25
What was the original selling price?

Unpicking

A recipe needs to include three times as much apple than peach. The total weight of apples and peaches in

a recipe is 800 grams. How much apple do | need?

Connected Calculations
p and q each stand for whole numbers.

p + g =1000 and p is 150 greater than q.

Work out the values of p and q.

Undoing

A film lasting 200 minutes finished at 17:45. At what time did it start?
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Main Maths Activity

4 L~

Can you describe what the images below mean?

5
10 10
50

100

Have a go at calculating the missing numbers below.

Remember to keep them balanced!

+12  4+11  15+25 4+ |

A A

76 - 32 23+ [ ] +129 225+ 10

A A
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28 -

15 +

20 +

40 +

10.

= 12+3
=35-3
=7+13
= 72- 22
135 + =150 + 20
255 + = 140 + 156
100 - =50 + 37
118 + =127 + 28
49 + =135 - 20
345-| | =152+ 114
27 x3=40+
14 x 8 =124 +
185 + 5= 70 -
288 + 12 = 80 -

CHALLENGE

8/x4=132+
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Mental Maths Warm Up

DAY FOUR

10

How many halves are there in four whole ones?
The side of a square is two metres. What is the area of the square?
A coach trip starts at nine fifty. It lasts thirty-five minutes. At what time does it finish?

The temperature outside is minus three degrees Celsius. What will be the temperature after it rises seven
degrees?

What is 700 divided by 107?
What number is five squared?
How many twelves in two hundred and forty?

How much is 25% of £200?

Always, sometimes, never
The area of a triangle is half the area of the rectangle that encloses it:

Use a fact

63+9=7

Use this fact to work out
126 +9 =

252 +7=

True or false?

Are these number sentences true or false?
6.7+0.4=6.11

81-09=7.2

Give your reasons.
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Main Maths Activity

Take a look at Ben’s homework using column addition. Your job is to check his
answers by working out whether or not he has got them right. Show your
working out in the space.

567
+289 My working out is
856

684
+328 My working out is
1002

772
+289 My working out is
1511

1646
+ 1288 My working out is
2934

2371
+1055 My working out is
3326

How many will Ben get right?

Write what the two missing digits could be.

_ 62+_95=757
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For positive integers, are the following statements always, sometimes or never true?
0 The sum of two odd numbers is even
0 The sum of three odd numbers is even

¢ Adding five to a number ending in six will add to a number ending in one

540
300 | 240

- — Write the four number facts that
this bar model shows.

Complete these calculations. What do you notice?

3+/7= 8+2= 6+4=

30+70= 80+ 20= 60+ 40 =
33+7= 88+ 2= 66 +4 =
333+ 7 = 888 + 2= 666 +4 =

300+ 700= 800 + 200 = 600 + 400 =
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Mental Maths Warm Up

DAY FIVE

12

A town had 26,520 people living in it. Can you round this number to:

The nearest 100

The nearest 1000

The nearest 10,000

After rounding these game scores, Zac said everyone got the same score.
698,421
721,644
655,000

Can you complete this sentence? Zac had rounded the scores to the nearest

Making an estimate

Which of these number sentences have the answer thatis between 550 and 600
1174 -611

3330-2779

9326 - 8777

Always, sometimes, never
Is it always sometimes or never true that the difference  between two odd numbers is odd.

Making links
How can you use factor pairs to solve this calculation?

13x12

(13x3x4,13x3%x2x2,13x2x6)
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Main Maths Activity

What do you know about this number? Can you use the key vocabulary?

Vocabulary: place value, digits, value, ones, tens, hundred, thousands

2503

Using your knowledge of place value, which number is the odd one out?

2503 408

6402 5231

What can we say about 48 000?

It is less than 50 000.

It is made of 40 000 and together.
It is made of thousands.

It is made of hundreds.

It is made of tens.

True or False?

3999 — 2999 = 4000 - 3000
3999 — 2999 = 3000 - 2000
2741 -1263 =2742 —-1264
2741 + 1263 = 2742 + 1264
2741 -1263=2731-1253
2741 -1263 =2742—-1252

Explain your reasoning.
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9-5
3-8 5-7

Write the four number facts that

-+ = this bar model shows.

Calculate 36-2 + 19-8
e with a formal written column method

e with a mental method, explaining your reasoning

Two numbers have a difference of 2-:38 . The smaller number is 3-12 .
e What is the bigger number?
e Two numbers have a difference of 2:3 . They are both less than 10.

e What could the numbers be?

X and y represent whole numbers.
Their sum is 1000.
Xis 250 more thany.

What are the values of xand y?



